a Let's Learn About Notes

Sheet 1
Basic Information About Notes
Semibreve or Whole note O One note = 4 crotchet beats Semibreve rest: =
Minim or Half note L L Two notes = 4 crotchet beats Minim rest: -
Crotchet or Quarter note. P g P Four notes = 4 crotchet beats Crotchet rest: W
Quaver or Eighth note .7‘755‘7‘7 Eight notes = 4 crotchet beats Quaver rest: .\
This part of a quaver
<—— or semiquaver is called + _ A dot placed after a note
the FLAG or the TAIL = O makes it longer by half
Quavers and of its own length.
semiquavers
can _u:m grouped +
This part of a note is <«—— together - —
called the STEM /.vﬁ _ _ 3 using BEAMS + - c =
This part of a note _
is called the HEAD + = . = +
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Sheet 5 NAME e

Note Properties

Fill in the missing notes ...
Semibreve or Whole note One note =4 L beats o

O
Minim or Half note L L Two notes = NL beats

Crotchet or Quarter note. L P L L Four notes =4 ; beats
Quaver or Eighth note ‘7%‘7‘7%55 Eight notes = NL beats — V — V — V —V

.__W%, Let's Learn About Notes
v

Tick the correct answers and cross the incorrect answers. Draw a note that Draw a minim Draw a quarter note
— is worth 4 crotchet beats
Crotchet ] 4 crotchet beats
Whole note ] ° Eighth note
One crotchet beat| Semibreve Draw an eighth note Draw a note that is worth | Draw a semibreve
one crotchet beat
Half note ] Quaver
4 crotchet beats 2 crotchet beats Draw two notes that add | Draw a half note Draw two notes that add
Minim ] Whole note up to one crotchet beat up to two crotchet beats
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CHAPTER 2
used In j tirme, each bar must add up to the value oE 4 c_rotchet beats. 3
) - -'.‘.-54"-
_ - ——ge 22y
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The semibreve rest can scm:etirne"s' be used as a whole bar rest to indicate a full bar of silence inan’
cime signature.

ptove Eb‘i{'b“m ClapRiny

X %J )RR TER Bz -

2 1 + 2 + 1 2

RV R

3 4 1 2 3 4 2 + 3 4

Dots in Music

To create interest and rhythmic variety, ‘dots’ are sometimes placed after notes and rests. A’
which is dotted is longer than the same note without a dot.

A dot placed after a note increases the values of {he note by one and a half times. For exampl

a) J . = original value x 1% b) o .= original value X 1%2
=1 beat x 1% = 4 beats x 1%
= 1% beats =4 + 2 = 6 beats

Another way to explain the ‘dot’ after the note or rest is to halve the value of the note and ¢
‘back on’ to form a total.
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CFill in the  blanks:

Name Sg\mfavf Kest Bf:q't% Sovse/ Word.
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of the following rhythms

to suit the time signafures

20. Add bar lines
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with one rest only.

%iﬂ in the spaces
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Sheet 7
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---------------------------

Can you help three of these notes to FIND THE WAY HOME?

Draw the correct notes in their boxes first. You can find all of them in the circle on this page.

3 crotchet
beats
draw me

worth _
4 crotchet
beats
_ 1_||_
draw me _ _
E —
T _ 1 _ — | ‘ ade it 4 —
_ i ] | © >

draw them , _ = ® E

G 1 .¢

_|_ T
Draw them

L
L[] L

F

worth 2
quavers

draw me

half of a
semibreve

draw me

half of cne
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crotchet

draw me
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' About Notes and Symbols N

Crossword Puzzle

ACROSS DOWN

Y&k

D 3
- |

5. 5..] This part of a quaver is called 1. This note is a:
aflag or

6. A semibreve can be called this (2 words) 2. How many crotchets equal 1 minim?

9. Two quavers equal _ _ _ crotchet beat(s) 3. This part of a note ~——

11. A note that gets three crotchet beats (2 words) 4. What is this note called?

7
12. A short note with a tail 7. What is this note called? L

14. A minim is sometimes called a ....(2 words) 8. What is this note called?

15. Acrotchet can be called a ........... note 10. A dotted minim has ...... g beats

Draw a picture of 11 across 13. Asemibreve has .......... g beats

Draw a picture of a note that has no stem and has a value equal to 4 crotchet beats

Draw a picture of 12 across Name this note ........cccooveveviienriieeenn, 5 o+ e R wnex v na e e
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Sheet 11 Ucﬂ—?um

Find the names of each of these notes. | Draw T hese

Write all the remaining letters below
in the same order. ._.3m< spell a message, Whole note chN—w
‘donecsrso Draw the
otcheetel L
© liminimsmw quarter note _ossowm.ﬁ
torthitih
eesamqgeba 16th note
07 dstwouqru g
maverase ] ..
ioinevdvi dotted minim
nquavereo
Qj_Qm.nj_\m_.b O_\mo._”O_Jm
Draw the
.BOﬂOHOImH\ L shortest note.
ahlf note

two quavers joined

four semiquavers joined
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Sheet 13
Are you good at adding up? m O1rIY) | S
Choose from the answer boxes at the bottom of this sheet.
Cross out each answer as you use it. Use each answer only once. m WL\ S
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Can you solve this problem?
. : . O O
If you turned every minim on this sheet into crotchets, ﬁ ﬁ 7L .

how many crotchets would there be? ........................
o *
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Lef's figp 1!

Clap the following rhythmic patterns.

JoJ1l

W

a)

R R

Jo )

b)

c)

)
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Led's Write LY

1. Name the following note or

g d b g

QuUICK REVISION

rest values:

- a) = b) __
Q) d) _
e) __ = .

2 Write True (T) or False (F) for each of the following:

9dad s

e)o—# =3

a)J+J=3_____

d)O+J=6____

g)_n_.+'7=4___

h) = + = =6

0d-du__

Y+ 71
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